PROBLEM ‘&.10

KNOWN: Anobject of known mass unde a.change of kinetic enermy
due 10 the action of a resultaut force . The final velouty , +he weork
dOV\C b(’ the ‘(OTC?— )ar\i the c_\/\ow\j{ (PN Q.\eva.-hav\a/u_af\re,n.

EIND: Determine the initial velocity. ===y~ Mz=300lb

. T - L | V=200 #is,

SCHEMATIC 2 GAVEN DATA: T \work, done. b
gresu«\fawf kgeg Y
(Z,-2,)= +1004t

g9=32.24[s"- ,

RPN Grar arard

E NGR. moDEL: (l) The 05\380" _is C dOSéA System. (2) The —Fame of jrav."}‘7
acts on ths cbject, (3N The Agowdtant force accouvnts fr all other forces |
act’ng on the object. ?

ANAN SIS ¢ By assumprion (2), the work of the reswl taut force must equal |

Aha som of Hho e w. Snebc ener and gravitehoieR potenhat energy.
Thuus, wit~Eq-2-9 3= 29 ] P I

work = 3 wm (VZZ-V’."')-\- ma (Z2:-2:)
Solviing for VT: wéerhing values,and converting units
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vV, = Y = 3%-¢Brw |
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- \ i S b‘;‘ 32.2 ‘H’ls " }.001 .Ll;

(3o0\b) | Bha L Abf s

=23065 g2

or ‘
0) o= 0509 fHs o | AN

1. Thehcrease w velocidy reflects the increase in keivetic onergy of
the object as a result of evtergy transferred +u it+ by the work

OF“H'\e\fCSuHGM*-FOV‘CQ. C—ave{—\-“:) obrerve that w. 1‘
Eq.292 +4we work of the ~tgultaut fovie actng on A2 \

bodta v positive. i



